
https://www.pass4itsure.com/c9510-319.html
2024 Latest pass4itsure C9510-319 PDF and VCE dumps Download

 

 

 

C9510-319Q&As

IBM WebSphere Application Server Developer Tools V8.5 with Liberty
Profile

Pass IBM C9510-319 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/c9510-319.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest C9510-319 Dumps | C9510-319 Practice Test | C9510-319 Study Guide                                1 / 3

https://www.pass4itsure.com/c9510-319.html
https://www.pass4itsure.com/c9510-319.html
https://www.pass4itsure.com/c9510-319.html


https://www.pass4itsure.com/c9510-319.html
2024 Latest pass4itsure C9510-319 PDF and VCE dumps Download

QUESTION 1

How can a developer ensure that a fault will occur if the service does not recognize a SOAP header entry containing a
transaction number? 

A. Set the fault Code value to soap: Transaction 

B. Include a Fault element in the SOAP message 

C. Include a must Understand attribute in the header entry 

D. Include a detail element containing application-specific elements according to the XML Schema 

Correct Answer: C 

 

QUESTION 2

A media company would like to provide an online Web service to encode video in a different format for a fee. The
encoding could take hours or days to finish based on the length of the video. The client machine may be restarted after
submitting the request and should be able to receive the encoded video. Web services client implementation: 

1) Asynchronous invocation 2) Wire level asynchronous invocation 3) Using two one way messages, one for request
and one for response Quality of service: a) WS-Reliable Messaging b) WS-Reliable Messaging with Transaction
enabled (enableTransactionalOneWay) 

What is the correct way to call the Web service including the qualities of service? 

A. (1) with (a) 

B. (1) with (b) 

C. (2) with (a) 

D. (2) with (b) 

E. (3) with (a) 

F. (3) with (b) 

Correct Answer: F 

 

QUESTION 3

A company is planning to deploy a key business function implemented as a JAX-WS Web service. The Web service will
be consumed by IBMWebSphere Application Server V7.0 and Microsoft .NET clients. Currently, theWeb services is
secured by WS-Security. 

What is the BEST way to communicate policy to the consumers? 

A. Export the Policy Set and publish the Policy Set on a web site for download 
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B. Enable the provider to export WS-Security Policy annotated WSDL via HTTP GET 

C. Enable the provider to export WS-Security Policy annotated WSDL via WS-Policy Exchange 

D. Enable the provider to export WS-Security Policy annotated WSDL via WS-Metadata Exchange 

Correct Answer: B 

 

QUESTION 4

Which statements below are TRUE in IBM Web Sphere Application Server V7.0? 

A. JAX-WS and JAX-RPC both offer support for SOAP with attachments 

B. JAX-WS only supports MTOM and JAX-RPC only supports SOAP with Attachments. 

C. JAX-RPC supports WSDL 1.1 and SOAP 1.1 only. JAX-WS adds support for bothWSDL 2.0 and SOAP 

1.2. 

D. JAX-RPC does not validate any SOAP messages. However JAX-WS, with its inclusion of JAXB, validates all SOAP
messages. 

E. JAX-WS based Web services add native support for WS-Addressing whereas JAX-RPC only offers Web Sphere-
specific APIs to use WS-Addressing. 

Correct Answer: AE 

 

QUESTION 5

A company is developing a travel portal application using three Web services to complete the booking process for
flights, hotels and car rental. The booking process is successful only if all three Web services are successful in
completing the booking of flights, hotels and car rental. 

Which of the following statement is true for the Web service client implementation to accomplish the booking process
requirement? 

A. Enable WS-Coordination only for the 3 Web services 

B. Enable WS-Atomic Transaction only for the 3 Web services 

C. Create a global transaction using Java Transaction API (JTA) User Transaction interface 

D. Create a global transaction using Java Transaction API (JTA) User Transaction interface and enable WS-Atomic
Transaction for the 3 Web services 

Correct Answer: D 
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